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			1) The Venn Diagram below shows two sets, Q and T.
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			a)  
									
					


			
					


			b)  
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			2) The Venn Diagram below shows two sets, P and W.
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			a)  
									
					


			
					


			b)  
									
					


			
					


			c)  
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			3) Using the Venn Diagram below find  .    
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			4) Using the Venn Diagram below find  .    
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			5) Using the Venn Diagram below find  .    

[image: ]


     



			[1]  


			6) A Venn diagram contains the following information

  = { integers from 2 to 11 };      = {3,4,5,7,9};      = {2,5,6,7,8,11}


Find   a)           b)           c)     
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			7) A Venn diagram contains the following information

  = { integers from 2 to 11 };      = {2,3,8,9};      = {4,9,11}

			Find
						a)  
						
						b)  
						
		


			
		


			 
						c)  
						
						d)  
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			8) A Venn diagram contains the following information

  = { integers from 2 to 11 };      = {4,6,8,10,11};      = {3,4,5,7,8,10}


Find     
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			9) A Venn diagram contains the following information

  = { integers from 4 to 13 };      = {4,6,8,9,10,11};      = {5,6,9,11,12}


Find     
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Solutions for the assessment Venn Diagrams - 2 Set Problems

			1) a)   = 10 
 b)   = 5 
 c)   = 3


			2) a)   = 7 
 b)   = 3 
 c)   = 5 
 d)   = 3





			3)   = 2


			4)   = 8





			5)   = 7


			6) a)   = 10 
 b)   = 5 
 c)   = 6





			7) a)   = 6 
 b)   = 1 
 c)   = 6 
 d)   = 7


			8)   = 3





			9)   = 3
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